

May 30, 2025

Mr. Steven P. Rocco Airport Manager Pompano Beach Airpark 1001 NE 10<sup>TH</sup> ST Pompano Beach, Florida 33060

RE: Bid Tabulation and Letter of Recommendation to Award

City of Pompano Beach

Bid No. ITB25-030

Pompano Beach Airpark (PMP)

Runway 10-28 Rehabilitation and Correction of Expansive Pavement on Runway 10 End

Dear Mr. Rocco:

Bids were received for the above-named project on Wednesday, May 21st, 2025, at 2:00 p.m. local time. A total of four (4) bids were submitted from the following construction companies and compared to the Engineer's Opinion of Probable Construction Cost (OPC) below:

Organization	BID
General Asphalt Co, Inc.	\$5,259,091.50
Ranger Construction Industries	\$6,249,613.87
JVA Engineering Contractor, Inc.	\$6,484,630.00
Weekley Asphalt Paving, Inc.	\$7,450,433.40
Engineer's OPC (HDR)	\$6,392,488.00*

<sup>\*</sup>Engineer's OPC includes the AACE Class 2 Adjustment

The evaluation and analysis of the bids received finds that the bid submitted by **General Asphalt Co, Inc.** is the apparent lowest responsive bid with clarifications required.

The apparent lowest bid represents a cost of approximately **18%** below the Engineer's OPC. The comparison of bid items presented in the attached Bid Tabulation provides information on the percent difference between the Engineer's Unit Prices and the Contractor's Unit Prices. The Contractor's Unit Prices appear to be in line with work in the region.

In addition to the bid price form tabulation, the submitted bid packages were reviewed for compliance with all required forms and documentation. The following table is a summary of the documentation submitted by the bidder.



Document	General Asphalt Co, Inc.	Ranger Construction Industries	JVA Engineering Contractor, Inc.	Weekley Asphalt Paving, Inc.
Qualification of Bidders	1	1	1	1
Project Completion	1	1	1	1
Conflict of Interest	1	1	1	1
Vendor Certification Regarding Scrutinized Companies List	1	1	1	1
Drug-Free Workplace	1	1	1	1
Bid Bond	(missing secretary information and Bid Number)	1	1	1
Form 1 – DBE Utilization	2 (missing state registration number)	1	1	3
Form 2 – Letter of Intent	1	1	1	3
Form 3 – Bidders List Collection Form	2 (missing form for General Asphalt and Caribbean Technical Services)	1	3 (unsigned)	3
FAA Buy American Preference – Construction Projects	1	1	1	1
FAA Buy American Preference – Equipment Building Projects	1	1	1	1
Certification of offeror/bidder regarding tax delinquency and felony convictions	1	1	1	1
Statement of Compliance – Davis Bacon Act	1	1	1	1
Byrd Anti Lobbying Certification	1	1	1	1
Statement of Compliance – Small and Minority Businesses, Women's Business Enterprises, and Labor Surplus Area Firms	1	1	1	1
Acknowledgement of Addenda	1	1	1	1

## Legend:

- 1 = Responded adequately
- 2 = Responded with minor corrections or clarifications needed
- 3 = Responded inadequately
- 4 = Did not respond

The final recommendation by HDR is to award the contract to **General Asphalt Co, Inc.** as the lowest responsive and responsible bidder in accordance with the Bid Forms submitted once the clarifications are provided. *The final recommendation is contingent on the Owners internal review*.

Should you have any questions, or if further information is required, please do not hesitate to call us.



Sincerely,

HDR Engineering, Inc.

Raheel Dossani, P.E. *Project Manager* 

Attachments: Bid Tabulation Analysis Table



## Bid Tabulation Analysis Bid No. ITB 25-030 Runway 10-28 Rehabilitaion and Correction of Expnasive Pavement Pompano Beach Airpark

				HDR Engine	ering Inc. OPC	Ge	neral Asphalt Co,	Inc.	Inc. Ranger Construction Industries			JVA Er	ngineering Contra	ctor, Inc.	Wee	ng Inc.	
Line	Description	Qty	Unit	Price (\$)	Total	Price (\$)	Price Difference (%)	Total	Price (\$)	Price Difference (%)	Total	Price (\$)	Price Difference (%)	Total	Price (\$)	Price Difference (%)	Total
1	CONTRACTOR QUALITY CONTROL PROGRAM	1	LS	\$178,000.00	\$178,000.00	\$110,000.00	-38.20	\$110,000.00	\$24,000.00	-86.52	\$24,000.00	\$140,000.00	-21.35	\$140,000.00	\$979,800.00	450.45	\$979,800.00
	TEMPORARY AIR AND WATER POLLUTION, SOIL																
2	EROSION, AND	1	LS	\$50,900.00	\$50,900.00	\$110,000.00	116.11	\$110,000.00	\$309,000.00	507.07	\$309,000.00	\$122,000.00	139.69	\$122,000.00	\$74,950.00	47.25	\$74,950.00
	SILTATION CONTROL																
3	MOBILIZATION	1	LS	\$356,000.00	\$356,000.00	\$525,000.00	47.47	\$525,000.00	\$625,000.00	75.56	\$625,000.00	\$520,000.00	46.07	\$520,000.00	\$688,380.00	93.37	\$688,380.00
4	CONTRACTOR STAGING AND STORAGE	1	LS	\$76,300.00	\$76,300.00	\$135,599.20	77.72	\$135,599.20	\$381,577.27	400.10	\$381,577.27	\$149,000.00	95.28	\$149,000.00	\$36,300.00	-52.42	\$36,300.00
5	PAVEMENT REMOVAL	41,490	SY	\$9.00	\$373,410.00	\$3.90	-56.67	\$161,811.00	\$3.70	-58.89	\$153,513.00	\$6.00	-33.33	\$248,940.00	\$6.08	-32.44	\$252,259.20
6	STRIPPING	18,880	SY	\$3.50	\$66,080.00	\$2.13	-39.14	\$40,214.40	\$4.05	15.71	\$76,464.00	\$6.20	77.14	\$117,056.00	\$3.13	-10.57	\$59,094.40
7	UNCLASSIFIED EXCAVATION	1,040	CY	\$25.00	\$26,000.00	\$36.30	45.20	\$37,752.00	\$22.00	-12.00	\$22,880.00	\$136.60	446.40	\$142,064.00	\$49.00	96.00	\$50,960.00
8	EMBANKMENT IN PLACE	2,520	CY	\$27.00	\$68,040.00	\$32.86	21.70	\$82,807.20	\$51.40	90.37	\$129,528.00	\$72.00	166.67	\$181,440.00	\$58.90	118.15	\$148,428.00
9	LIME ROCK BASE COURSE, 6-INCH DEPTH	6,530	SY	\$26.00	\$169,780,00	\$25.91	-0.35	\$169,192.30	\$32.30	24.23	\$210,919.00	\$23.30			\$48.22	85.46	\$314,876.60
10	·	2,070	CY	\$93.00	\$192,510.00	\$107.78		\$223,104.60	\$179.80		\$372,186.00	\$129.00			\$172.46		\$356,992.20
11	SCARIFY AND RECOMPACT LIME ROCK	34,500	SY	\$6.00	\$207,000.00	\$5.28		\$182,160.00	\$6.85		\$236,325.00	\$9.30			\$9.32		\$321,540.00
12	ASPHALT SURFACE COURSE, PG 76-22	7.030	TON	\$210.00	\$1,476,300.00	\$186.82	-11.04	\$1,313,344.60	\$179.30		\$1,260,479.00	\$220.50			\$205.00		
	PERMANENT WATERBORNE PAVEMENT MARKINGS	,															
13	WITH GLASS BEADS	20,170	SF	\$5.00	\$100,850.00	\$2.75	-45.00	\$55,467.50	\$1.50	-70.00	\$30,255.00	\$4.70	-6.00	\$94,799.00	\$4.25	-15.00	\$85,722.50
14	PERMANENT WATERBORNE PAVEMENT MARKINGS WITHOUT GLASS BEADS	21,730	SF	\$2.50	\$54,325.00	\$2.75		\$59,757.50	\$0.90		\$19,557.00	\$2.80		\$60,844.00	\$2.60		\$56,498.00
	TEMPORARY WATERBORNE PAVEMENT MARKINGS	17,220	SF	\$4.50	\$77,490.00	\$1.65	-63.33	\$28,413.00	\$1.50		\$25,830.00	\$3.40		\$58,548.00	\$3.11		\$53,554.20
	REMOVAL OF EXISTING PAVEMENT MARKINGS	400	SF	\$5.00	\$2,000.00	\$8.80	76	\$3,520.00	\$9.50		\$3,800.00	\$15.60			\$13.75		\$5,500.00
17	SODDING (WITH TOPSOIL)	20,470	SY	\$7.50	\$153,525.00	\$8.45	12.67	\$172,971.50	\$12.40	65.33	\$253,828.00	\$11.60	54.67	\$237,452.00	\$9.81	30.80	\$200,810.70
18	AIRPORT SAFETY AND MAINTENANCE OF TRAFFIC	1	LS	\$592,488.00	\$592,488.00	\$537,000.00	-9.37	\$537,000.00	\$678,000.00	14.43	\$678,000.00	\$620,000.00	4.64	\$620,000.00	\$870,000.00	46.84	\$870,000.00
19	WILDLIFE BURROW SURVEY, PERMITTING, COLLAPSE, AND PROTECTION	1	LS	\$75,000.00	\$75,000.00	\$11,000.00	-85.33	\$11,000.00	\$83,300.00	11.07	\$83,300.00	\$52,000.00	-30.67	\$52,000.00	\$59,170.00	-21.11	\$59,170.00
20	HIGH PERFORMANCE TURF REINFORCEMENT MAT	4,320	SY	\$42.00	\$181,440.00	\$49.94	18.90	\$215,740.80	\$40.50	-3.57	\$174,960.00	\$36.60	-12.86	\$158,112.00	\$61.38	46.14	\$265,161.60
21	HAND EXCAVATE MINIMUM 8" WIDE X 28" DEEP IN EARTH.	25	LF	\$35.00	\$875.00	\$22.00	-37.14	\$550.00	\$23.80		\$595.00	\$110.00		\$2,750.00	\$23.00		\$575.00
22	SAW CUT AND HAND EXCAVATE MINIMUM 8" WIDE X 28" DEEP IN EXISTING FULL STRENGTH PAVEMENT.	25	LF	\$50.00	\$1,250.00	\$45.54	-8.92	\$1,138.50	\$49.30	-1.40	\$1,232.50	\$115.00	130.00	\$2,875.00	\$46.00	-8.00	\$1,150.00
23	3/4" X 20' GROUND RODS CONNECTED TO COUNTERPOISE.	8	EA	\$500.00	\$4,000.00	\$264.00	-47.20	\$2,112.00	\$285.70	-42.86	\$2,285.60	\$312.50	-37.50	\$2,500.00	\$267.00	-46.60	\$2,136.00
24	ADDITIONAL 10' GROUND ROD SECTIONS.	8	EA	\$350.00	\$2,800.00	\$118.80	-66.06	\$950.40	\$128.60	-63.26	\$1,028.80	\$140.00	-60.00	\$1,120.00	\$120.00	-65.71	\$960.00
25	#6 BARE SOLID AWG COUNTERPOISE CONDUCTOR INSTALLED OVER CONDUIT SYSTEM.	2,800	LF	\$2.50	\$7,000.00	\$1.65	-34.00	\$4,620.00	\$1.80		\$5,040.00	\$1.95		\$5,460.00	\$1.70		\$4,760.00
26	#8, 5KV, L-824 CONDUCTOR INSTALLED IN NEW AND EXISTING CONDUIT/DUCTBANK SYSTEM.	21,500	LF	\$3.00	\$64,500.00	\$3.30	10.00	\$70,950.00	\$3.55	18.33	\$76,325.00	\$3.90	30.00	\$83,850.00	\$3.35	11.67	\$72,025.00
27	#6, 5KV, L-824 CONDUCTOR INSTALLED IN NEW AND EXISTING	9,800	LF	\$3.75	\$36,750.00	\$4.40	17.33	\$43,120.00	\$4.75	26.67	\$46,550.00	\$5.20	38.67	\$50,960.00	\$4.45	18.67	\$43,610.00
28	CONDUIT/DUCTBANK SYSTEM. #6, 600V, XHHW, CONDUCTOR INSTALLED IN NEW AND	20,500	LF	\$2.75	\$56,375.00	\$2.20	-20.00	\$45,100.00	\$2.40	-12.73	\$49,200.00	\$2.60	-5.45	\$53,300.00	\$2.50	-9.09	\$51,250.00
	EXISTING CONDUIT/DUCTBANK SYSTEM.			ć2 F00 00	ć2 F00 00	¢550.00	70.00	¢550.00	Ć505.00	76.22	éror co	6654.00	72.00	¢654.00	¢5.00.00	77.50	¢5.00.00
29	REMOVAL OF EXISTING REGULATOR.	1	EA	\$2,500.00	\$2,500.00	\$550.00	-78.00	\$550.00	\$595.00	-76.20	\$595.00	\$651.00	-73.96	\$651.00	\$560.00	-77.60	\$560.00
30	NEW L-828 15KW FERRORESONANT, 3 STEP REGULATOR WITH 120V CONTROL VOLTAGE.	1	EA	\$22,000.00	\$22,000.00	\$32,450.00	47.50	\$32,450.00	\$35,100.00	59.55	\$35,100.00	\$38,400.00	74.55	\$38,400.00	\$32,800.00	49.09	\$32,800.00
31	ONE 2" SCHEDULE 40 PVC CONDUIT NON-ENCASED DIRECT BURIED IN EARTH, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	1,800	LF	\$18.00	\$32,400.00	\$11.00	-38.89	\$19,800.00	\$11.90	-33.89	\$21,420.00	\$13.00	-27.78	\$23,400.00	\$11.20	-37.78	\$20,160.00
32	ONE 2" SCHEDULE 40 PVC CONDUIT CONCRETE ENCASED AND INSTALLED IN NEW FULL STRENGTH PAVEMENT, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	300	LF	\$35.00	\$10,500.00	\$31.90	-8.86	\$9,570.00	\$38.85	11.00	\$11,655.00	\$37.70	7.71	\$11,310.00	\$32.50	-7.14	\$9,750.00
33	ONE 2" SCHEDULE 40 PVC CONDUIT CONCRETE ENCASED AND INSTALLED IN EXISTING FULL STRENGTH PAVEMENT, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	1,200	LF	\$50.00	\$60,000.00	\$33.00	-34.00	\$39,600.00	\$38.55	-22.90	\$46,260.00	\$39.00	-22.00	\$46,800.00	\$33.40	-33.20	\$40,080.00



## Bid Tabulation Analysis Bid No. ITB 25-030 Runway 10-28 Rehabilitaion and Correction of Expnasive Pavement Pompano Beach Airpark



				HDR Enginee	ering Inc. OPC	Ge	neral Asphalt Co,	Inc.	Range	er Construction Inc	dustries	JVA En	gineering Contra	ctor, Inc.	Wee	ng Inc.	
Line	Description	Qty	Unit	Price (\$)	Total	Price (\$)	Price Difference (%)	Total	Price (\$)	Price Difference (%)	Total	Price (\$)	Price Difference (%)	Total	Price (\$)	Price Difference (%)	Total
34	ONE 4" SCHEDULE 40 PVC CONDUIT NON-ENCASED DIRECT BURIED IN EARTH, 24-INCH MINIMUM COVER, COMPLETE IN PLACE.	350	LF	\$25.00	\$8,750.00	\$24.20	-3.20	\$8,470.00	\$26.20	4.80	\$9,170.00	\$28.60	14.40	\$10,010.00	\$24.50	-2.00	\$8,575.00
35	INTERCEPT EXISTING CONDUIT SYSTEM AND CONNECT TO NEW CONDUIT SYSTEM.	60	EA	\$350.00	\$21,000.00	\$313.50	-10.43	\$18,810.00	\$339.50	-3.00	\$20,370.00	\$371.00	6.00	\$22,260.00	\$317.00	-9.43	\$19,020.00
36	L-867 16" DIAMETER JUNCTION CAN WITH COVER INSTALLED IN EARTH.	5	EA	\$2,500.00	\$12,500.00	\$1,595.00	-36.20	\$7,975.00	\$1,730.00	-30.80	\$8,650.00	\$1,890.00	-24.40	\$9,450.00	\$1,620.00	-35.20	\$8,100.00
37	L-867 16" DIAMETER BOTTOMLESS 2 CAN JUNCTION CAN PLAZA INSTALLED IN EARTH.	3	EA	\$5,000.00	\$15,000.00	\$9,350.00	87.00	\$28,050.00	\$10,100.00	102.00	\$30,300.00	\$11,070.00	121.40	\$33,210.00	\$9,500.00	90.00	\$28,500.00
38	L-867 16" DIAMETER 2 CAN JUNCTION CAN PLAZA INSTALLED IN EXISTING PAVEMENT.	1	EA	\$7,500.00	\$7,500.00	\$9,625.00	28.33	\$9,625.00	\$10,400.00	38.67	\$10,400.00	\$11,390.00	51.87	\$11,390.00	\$9,750.00	30.00	\$9,750.00
39	INTERCEPT EXISTING LIGHT BASE CAN IN EARTH AND CONNECT TO CONDUIT SYSTEM.	3	EA	\$350.00	\$1,050.00	\$880.00	151.43	\$2,640.00	\$952.50	172.14	\$2,857.50	\$1,040.00	197.14	\$3,120.00	\$900.00	157.14	\$2,700.00
40	REMOVAL OF EXISTING LIGHT FXTURE WITH BASE CAN TO REMAIN	44	EA	\$500.00	\$22,000.00	\$550.00	10.00	\$24,200.00	\$595.00	19.00	\$26,180.00	\$650.00	30.00	\$28,600.00	\$560.00	12.00	\$24,640.00
41	REMOVAL OF EXISTING JUNCTION CAN/LIGHT BASE CAN IN EARTH.	35	EA	\$1,000.00	\$35,000.00	\$715.00	-28.50	\$25,025.00	\$774.00	-22.60	\$27,090.00	\$846.00	-15.40	\$29,610.00	\$725.00	-27.50	\$25,375.00
42	REMOVAL OF EXISTING JUNCTION CAN/LIGHT BASE CAN IN EXISTING PAVEMENT.	4	EA	\$2,000.00	\$8,000.00	\$1,760.00	-12.00	\$7,040.00	\$1,900.00	-5.00	\$7,600.00	\$2,080.00	4.00	\$8,320.00	\$1,800.00	-10.00	\$7,200.00
43	REMOVAL OF EXISTING 2 CAN JUNCTION CAN PLAZA INSTALLED IN EARTH. NEW L-861T(L), LED TAXIWAY ELEVATED EDGE LIGHT	4	EA	\$1,850.00	\$7,400.00	\$2,860.00	54.59	\$11,440.00	\$3,100.00	67.57	\$12,400.00	\$3,385.00	82.97	\$13,540.00	\$2,900.00	56.76	\$11,600.00
44	AND NEW BASE CAN INSTALLED IN EARTH.  NEW L-861(L), LED TAXIWAY ELEVATED EDGE LIGHT	15	EA	\$2,200.00	\$33,000.00	\$2,420.00	10.00	\$36,300.00	\$2,620.00	19.09	\$39,300.00	\$2,864.00	30.18	\$42,960.00	\$2,500.00	13.64	\$37,500.00
45	AND NEW BASE CAN INSTALLED IN EXISTING PAVEMENT.	11	EA	\$3,400.00	\$37,400.00	\$2,970.00	-12.65	\$32,670.00	\$3,210.00	-5.59	\$35,310.00	\$3,515.00	3.38	\$38,665.00	\$3,000.00	-11.76	\$33,000.00
46	NEW L-861(L), LED RUNWAY ELEVATED EDGE LIGHT INSTALLED ON EXISTING BASE CAN.	34	EA	\$1,800.00	\$61,200.00	\$880.00	-51.11	\$29,920.00	\$952.50	-47.08	\$32,385.00	\$1,040.00	-42.22	\$35,360.00	\$900.00	-50.00	\$30,600.00
47	NEW L-861(L), LED RUNIWAY ELEVATED EDGE LIGHT AND NEW BASE CAN INSTALLED IN EARTH.	4	EA	\$2,200.00	\$8,800.00	\$2,640.00	20.00	\$10,560.00	\$2,860.00	30.00	\$11,440.00	\$3,125.00	42.05	\$12,500.00	\$2,700.00	22.73	\$10,800.00
48	NEW ELEVATED THRESHOLD LIGHT BAR INSTALLED IN EARTH WITH NEW MAINTENANCE PAD.	2	EA	\$15,000.00	\$30,000.00	\$16,500.00	10.00	\$33,000.00	\$17,900.00	19.33	\$35,800.00	\$19,530.00	30.20	\$39,060.00	\$16,700.00	11.33	\$33,400.00
49	NEW L-852D(L), LED, RUNWAY MIRL FLUSH MOUNTED LIGHT ON EXISTING BASE CAN.	8	EA	\$2,800.00	\$22,400.00	\$3,300.00	17.86	\$26,400.00	\$3,570.00	27.50	\$28,560.00	\$3,900.00	39.29	\$31,200.00	\$3,400.00	21.43	\$27,200.00
50	NEW L-852D, LED, RUNWAY MIRL FLUSH MOUNTED LIGHT AND NEW L-868 BASE CAN INSTALLED IN EXISTING PAVEMENT.	4	EA	\$5,000.00	\$20,000.00	\$3,630.00	-27.40	\$14,520.00	\$3,930.00	-21.40	\$15,720.00	\$4,295.00	-14.10	\$17,180.00	\$3,700.00	-26.00	\$14,800.00
51	RE-INSTALL EXISTING L-852D RUNWAY MIRL FLUSH MOUNTED LIGHT ON EXISTING BASE CAN.	1	EA	\$1,000.00	\$1,000.00	\$1,100.00	10.00	\$1,100.00	\$1,190.00	19.00	\$1,190.00	\$1,300.00	30.00	\$1,300.00	\$1,200.00	20.00	\$1,200.00
52	RE-INSTALL EXISTING L-852D RUNWAY MIRL FLUSH MOUNTED LIGHT ON EXISTING BASE CAN WITH NEW TOP SECTION.	2	EA	\$2,200.00	\$4,400.00	\$1,375.00	-37.50	\$2,750.00	\$1,490.00	-32.27	\$2,980.00	\$1,627.00	-26.05	\$3,254.00	\$1,400.00	-36.36	\$2,800.00
53	NEW L-881(L), LED PAPI SYSTEM (VOLTAGE DRIVEN) MOUNTED ON EXISTING CONCRETE FOUNDATIONS WITH NEW BASE CAN AND MAINTENANCE PAD.	2	EA	\$75,000.00	\$150,000.00	\$36,025.00	-51.97	\$72,050.00	\$39,000.00	-48.00	\$78,000.00	\$42,640.00	-43.15	\$85,280.00	\$37,000.00	-50.67	\$74,000.00
54	NEW L-849(L)I, LED REIL SYSTEM (CURRENT DRIVEN) MOUNTED ON NEW CONCRETE FOUNDATIONS.	1	EA	\$22,000.00	\$22,000.00	\$26,675.00	21.25	\$26,675.00	\$28,900.00	31.36	\$28,900.00	\$31,570.00	43.50	\$31,570.00	\$27,000.00	22.73	\$27,000.00
55	INTERCEPT EXISTING CIRCUIT CONDUCTORS IN EXISTING BASE CAN/ MANHOLE /JUNCTION CAN AND EXTEND CIRCUITS ACCORDINGLY.	50	EA	\$350.00	\$17,500.00	\$209.00	-40.29	\$10,450.00	\$226.20	-35.37	\$11,310.00	\$247.00	-29.43	\$12,350.00	\$215.00	-38.57	\$10,750.00
56	NEW L-858(L), SIZE 2, 1-2 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EARTH.	3	EA	\$10,000.00	\$30,000.00	\$10,725.00	7.25	\$32,175.00	\$11,600.00	16.00	\$34,800.00	\$12,695.00	26.95	\$38,085.00	\$12,000.00	20.00	\$36,000.00
57	NEW L-858(L), SIZE 2, 1-2 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EXISTING PAVEMENT	1	EA	\$12,000.00	\$12,000.00	\$11,000.00	-8.33	\$11,000.00	\$11,900.00	-0.83	\$11,900.00	\$13,020.00	8.50	\$13,020.00	\$11,600.00	-3.33	\$11,600.00



## Bid Tabulation Analysis Bid No. ITB 25-030 Runway 10-28 Rehabilitaion and Correction of Expnasive Pavement Pompano Beach Airpark



			HDR Engineering Inc. OPC		General Asphalt Co, Inc.			Range	er Construction In	dustries	JVA Er	ngineering Contra	ctor, Inc.	Weekley Asphalt Paving Inc.			
Line	Description	Qty	Unit	Price (\$)	Total	Price (\$)	Price Difference (%)	Total	Price (\$)	Price Difference (%)	Total	Price (\$)	Price Difference (%)	Total	Price (\$)	Price Difference (%)	Total
58	NEW L-858(L), SIZE 2, 3-4 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EARTH.	2	EA	\$15,000.00	\$30,000.00	\$12,650.00	-15.67	\$25,300.00	\$13,700.00	-8.67	\$27,400.00	\$14,970.00	-0.20	\$29,940.00	\$13,200.00	-12.00	\$26,400.00
59	NEW L-858(L), SIZE 2, 3-4 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EXISTING PAVEMENT	1	EA	\$17,000.00	\$17,000.00	\$13,200.00	-22.35	\$13,200.00	\$14,300.00	-15.88	\$14,300.00	\$15,620.00	-8.12	\$15,620.00	\$13,800.00	-18.82	\$13,800.00
60	NEW L-858(L), SIZE 2, 5-6 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EARTH.	1	EA	\$18,000.00	\$18,000.00	\$14,850.00	-17.50	\$14,850.00	\$16,100.00	-10.56	\$16,100.00	\$17,570.00	-2.39	\$17,570.00	\$15,500.00	-13.89	\$15,500.00
61	NEW L-858(L), SIZE 2, 7-8 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EARTH.	2	EA	\$20,000.00	\$40,000.00	\$17,050.00	-14.75	\$34,100.00	\$18,500.00	-7.50	\$37,000.00	\$20,180.00	0.90	\$40,360.00	\$17,700.00	-11.50	\$35,400.00
62	NEW L-858(L), SIZE 2, 7-8 CHARACTER, LED GUIDANCE SIGN AND CONCRETE BASE INSTALLED IN EXISTING PAVEMENT	1	EA	\$22,500.00	\$22,500.00	\$17,050.00	-24.22	\$17,050.00	\$18,500.00	-17.78	\$18,500.00	\$20,180.00	-10.31	\$20,180.00	\$17,700.00	-21.33	\$17,700.00
63	NEW L-858(L), SIZE 2, 1-2 CHARACTER, LED GUIDANCE SIGN INSTALLED ON EXISTING CONCRETE BASE.	15	EA	\$5,000.00	\$75,000.00	\$2,750.00	-45.00	\$41,250.00	\$2,980.00	-40.40	\$44,700.00	\$3,255.00	-34.90	\$48,825.00	\$3,200.00	-36.00	\$48,000.00
64	NEW L-858(L), SIZE 2, 3-4 CHARACTER, LED GUIDANCE SIGN INSTALLED ON EXISTING CONCRETE BASE.	2	EA	\$7,500.00	\$15,000.00	\$4,510.00	-39.87	\$9,020.00	\$4,880.00	-34.93	\$9,760.00	\$5,338.00	-28.83	\$10,676.00	\$5,000.00	-33.33	\$10,000.00
65	NEW L-858(L), SIZE 2, 5-6 CHARACTER, LED GUIDANCE SIGN INSTALLED ON EXISTING CONCRETE BASE.	16	EA	\$10,000.00	\$160,000.00	\$6,600.00	-34.00	\$105,600.00	\$7,140.00	-28.60	\$114,240.00	\$7,810.00	-21.90	\$124,960.00	\$7,100.00	-29.00	\$113,600.00
66	NEW L-858(L), SIZE 5, RDR, LED GUIDANCE SIGN INSTALLED ON NEW CONCRETE BASE.	1	EA	\$12,000.00	\$12,000.00	\$12,100.00	0.83	\$12,100.00	\$13,100.00	9.17	\$13,100.00	\$14,320.00	19.33	\$14,320.00	\$12,700.00	5.83	\$12,700.00
67	NEW L-858(L), SIZE 5, RDR, LED GUIDANCE SIGN INSTALLED ON EXISTING CONCRETE BASE.	1	EA	\$5,000.00	\$5,000.00	\$4,400.00	-12.00	\$4,400.00	\$4,760.00	-4.80	\$4,760.00	\$5,200.00	4.00	\$5,200.00	\$4,900.00	-2.00	\$4,900.00
68	REMOVAL OF EXISTING GUIDANCE SIGN AND CONCRETE BASE IN EARTH.	9	EA	\$1,500.00	\$13,500.00	\$3,410.00	127.33	\$30,690.00	\$3,690.00	146.00	\$33,210.00	\$4,030.00	168.67	\$36,270.00	\$3,500.00	133.33	\$31,500.00
69	REMOVAL OF EXISTING GUIDANCE SIGN WITH CONCRETE BASE TO REMAIN	32	EA	\$750.00	\$24,000.00	\$275.00	-63.33	\$8,800.00	\$297.60	-60.32	\$9,523.20	\$325.00	-56.67	\$10,400.00	\$280.00	-62.67	\$8,960.00
70	REMOVAL OF EXISTING REIL SYSTEM, COMPLETE.	1	EA	\$3,000.00	\$3,000.00	\$4,400.00	46.67	\$4,400.00	\$4,760.00	58.67	\$4,760.00	\$5,200.00	73.33	\$5,200.00	\$4,500.00	50.00	\$4,500.00
71	REMOVAL OF EXISTING PAPI SYSTEM, COMPLETE.	2	EA	\$5,000.00	\$10,000.00	\$5,060.00	1.20	\$10,120.00	\$5,480.00	9.60	\$10,960.00	\$5,900.00	18.00	\$11,800.00	\$5,200.00	4.00	\$10,400.00
		Class	2 Adjustment	\$581,129		-18%	\$5,259,091.50		-2%	\$6,249,613.87		1%	\$6,484,630.00		17%	\$7,450,433.40	
				TOTAL	\$6,392,417												